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A)
B)
C)
D)

long fun( int n)
{ longs;

if(n==1|| n= =2) s=2;

else s=n-fun(n-1);

returns;
}
main()
{ printf("%lId\n", fun(5)); }

A)1l B) 2 C)3 D) 4

int (*ptr)();

A) ptr
B) ptr int
C) ptr : int
D) ptr : int
char ch
A) A <=ch<=Z' B) (ch>='A)&(ch<='Z")
C) (ch>="A")&&(ch<='Z" D) (‘A'<=ch)AND('Z>=ch)

int arr[]={6,7,8,9,10};

int * ptr;

ptr=arr;

* (ptr+2)+=2;

printf ("%d,%d\n",*ptr,*(ptr+2));
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A) 8,10 B) 6,8
for (t=1;t<=100;t++)
{ scanf("%d",&x);
if(x<0) continue;
printf(*%3d",t);
}
A) x<0
C) printf
a=1,b=3,c=5,d=4,
if(a<b)
if(c<d) x=1;
else
if(a<c)
if(b<d) x=2;
else x=3;
else x=6;
else x=7;

A)l B)2

A)7 B)8

int x=10,y=20,z=30;
if (x>y)
Z=X; X=y; Y=z,
A) x=10, y=20, z=30
C) x=20, y=30, z=10

A A
A) A%2==1 B) (A%2==0)  C) !(A%2)
C
A) auto B) register C) static D) extern
int  k,a,b;
unsigned long w=25;
double x=1.42;
C

C) 7,9

D) 6,10

B) x>=0
D)

D)6
2=(a=2,b=5,b++,a+h)
D)2

X, Y, Z

B) x=20, y=30, z=20
D) x=20, y=30, z=30

100

D) A%2



A) x%(-3) B) w+=-2

C) k=(a=2,b=3,at+b) D) a+= a-=(b=4)*(a=3)
13 -
int k;
int a[3][3]={1,2,3,4,5,6,7,8,9};
for(k=0;k<3;k++) printf ("%d",a[2-K][ k]);
A 3 6 9 B)7 5 3 C)9 6 3 D)3 5 7
14 a b
char a[ ]="ABCDEF";
char b[]={"A=,”B~,”C~,”D~,"E~,"F~};
Aa b B)a b
Ca b D) a b
15 .
y=func (a, b,max d., );
A)5 B) 2 C)3 D) 4
16 #define PI  “3.14159” Pl
A) B C D
17 int a[10]={1,2,3,4,5,6,7,8,9,10} *P=a; 9
A) *(P+8) B) *P+9 C) *P+=9 D) P+8
18
char str[ ]="ABC", *p=str
printf ("%d\n",*(p+2))
A) 0 B) 'C' C) 'C' D) 'C'  ASCII
19
A) char str[10]={*china}; char str[10]; str[ ]={*china”};
B) char *a= “china”; char *a; *a= “china”;
C) char *s= “china”; char *s; s=“china”;
D) char c[4]= “abc”, d[4]= “abc”; char c[4]=d[4]= “abc”;
20

struct person{char name[9]; int age;};
strict person class[10]={"Johu", 17,
"Paul", 19,

"Mary", 18,
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"Adam”, 16,};
M
A) prinft("%c\n",class[3].mane);
C) prinft("%c\n",class[2].name[1])
union myun
{ struct
{ intxy,z }u;
intk;}a;
main()
{ au.x=4;a.u.y=5; a.u.z=6;
a.k=1;
printf("%d\n",a.u.y);
}

A1 B)5 C)6 D)4

main()
{int xy,z
scanf("%d%d%d",&x, &Yy, &z );

printf(““x+y+z=%d\n>~> ,x+y+z);

¥

A) x+y+z=48 B) x+y+z=35
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A) 1 B) 2 C)0

-int a[3][4]; a

A) a[2][4] B)a[l 3]
A)inta[ ]1[]={1,2,3,4,5,6};
C)inta[ ][3]={1,2,3,4,5,6};

main()

{ int  x=0,a=0,b=0; switch(x)

{ case0: b++;
case 1:  at++,;

C) a[1+1][0]

B) pfintf("%c\n",class[3].name[1]);
D) printf("%c\n",class[2].name[0]);

25,13,10<CR>

C) x+y+z=35 D)
int a=1, b=2, ¢=3, d=4, m=2, n=2;

(m=a>b)&&(n=c>d) n

D) 4

D) a(2)(1)

B) int a[2] [ ]={1,2,3,4,5,6};
D) int a[2,3]={1,2,3,4,5,6};

30



case 2.  at+;b++;}
printf(““a=%d,b=%d\n~~,a,b);

void fun(char *a, char *b)
{a=b; (*a)++; }
main()
{ char c1="A',c2="a",*p1,*p2;
pl=&cl; p2=&c2; fun(pl,p2);
printf(*%c%c\n",c1,c2);

}
3 3*3
3
main()
{ float a[3][3],sum=0;
int i,j;

printf(“please input rectangle element:\n");
for(i=0;i<3;i++)

for( 1 j++)

scanf("%f",&a[j]);
for( 2 i++)

sum=sum+a;

printf("duijiaoxian he is %6.2f", 3 );
}

2 3
main()
{int len;
char *str[20];
printf("please input a string:\n");
scanf("%s",str);
len=length( 1 );
printf(*the string has %d characters.”,len);
}
length(p) I
char *p;
{intn;
n=0;
while(*p!= 2 )
{ nt++
p++; }

length(p)



return 3

¥

5 101~200

1 2 3
#include "math.h"
main()
{ intm, i, k, hm=0, leap=1;
printf("\n");
for( 1 mt++)
{ k=sqrt(m+1);
for(i=2; i<=k; i++)
ift 2 )
{leap=0; break;}
if(leap) {printf("%-4d", m); hm++;
if( hm % 10==0)
printf( "\n™);
¥
leap=1;
¥
printf("\nThe total is %d", 3 ),

¥

1 2 3

main()

{ intxyzt;
scanf("%d%d%d",&x, &Y, &2);
if( 1 )

{ t=x=yy=t; }

if(x>z)

{ 2 ¥

if(y>z)

{ t=yy=z;z=t; }
printf(*"small to big 3 \n"xy,2);
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